

## Proposition

Let  $(x_n)_{n \in \mathbb{N}}, (y_n)_{n \in \mathbb{N}}$  be two convergent sequences in normed space  $(X, \|\cdot\|)$  such that

$$\begin{aligned} x_n &\rightarrow x_0 \\ y_n &\rightarrow y_0 \end{aligned}$$

$$x_0, y_0 \in X$$

Then

- ①  $(x_n + y_n) \rightarrow x_0 + y_0$
- ②  $\alpha x_n \rightarrow \alpha x_0 \quad \alpha \in K$
- ③  $\|x_n\| \rightarrow \|x_0\|$
- ④  $\|x_n - y_n\| \rightarrow \|x_0 - y_0\|$

Proof: ①  $\because x_n \rightarrow x_0$ , for  $\frac{\epsilon}{2} > 0$ , there exist  $k_1 \in \mathbb{N}$  such that

$$\|x_n - x_0\| < \frac{\epsilon}{2} \quad \forall n > k_1$$

$\because y_n \rightarrow y_0$ , for  $\frac{\epsilon}{2} > 0$ , there exist  $k_2 \in \mathbb{N}$  such that

$$\|y_n - y_0\| < \frac{\epsilon}{2} \quad \forall n > k_2$$

$$\text{Let } k = \max \{k_1, k_2\}$$

$$\begin{aligned} \|(x_n + y_n) - (x_0 + y_0)\| &= \|(x_n - x_0) + (y_n - y_0)\| \\ &\leq \|x_n - x_0\| + \|y_n - y_0\| \\ &< \frac{\epsilon}{2} + \frac{\epsilon}{2} = \epsilon \quad \forall n > k \end{aligned}$$

$$\therefore (x_n + y_n) \rightarrow x_0 + y_0$$

②  $\because x_n \rightarrow x_0$ , for  $\frac{\epsilon}{|a|} > 0$  where  $a \in K$  field  
 there exist  $k \in \mathbb{N}$  such that

$$\|x_n - x_0\| < \frac{\epsilon}{|a|} \quad \forall n > k$$

$$\|a x_n - a x_0\| = \|a(x_n - x_0)\|$$

$$= |a| \|x_n - x_0\|$$

$$< |a| \frac{\epsilon}{|a|} \quad \forall n > k$$

$$= \epsilon$$

$$\therefore \|a x_n - a x_0\| < \epsilon \quad \forall n > k$$

$$\therefore a x_n \rightarrow a x_0$$

③  $\because x_n \rightarrow x$ , for  $\epsilon > 0$ ,  $\exists k \in \mathbb{N}$  such that  
 $\|x_n - x_0\| < \epsilon \quad \forall n > k$

$$\therefore |\|x_n\| - \|x_0\|| < \|x_n - x_0\| < \epsilon \quad \forall n > k$$

$$\therefore \|x_n\| \rightarrow \|x_0\|$$

④  $\because x_n \rightarrow x_0$ , for  $\frac{\epsilon}{2} > 0$ ,  $\exists k_1 \in \mathbb{N}$  such that  
 $\|x_n - y_0\| < \frac{\epsilon}{2} \quad \forall n > k_1$

$\because y_n \rightarrow y_0$ , for  $\frac{\epsilon}{2} > 0$ ,  $\exists k_2 \in \mathbb{N}$  such that  
 $\|y_n - y_0\| < \frac{\epsilon}{2} \quad \forall n > k_2$

$$\text{Let } K = \max\{k_1, k_2\}$$

$$\| \|x_n - y_n\| - \|x_0 - y_0\| \| \leq \|x_n - y_n - (x_0 - y_0)\|$$

$$= \| (x_n - x_0) + (y_0 - y_n) \|$$

$$\leq \| (x_n - x_0) \| + \| (y_0 - y_n) \|$$

$$= \|x_n - x_0\| + \|y_n - y_0\|$$

$$< \frac{\epsilon}{2} + \frac{\epsilon}{2} = \epsilon \quad \forall n > K$$

$$\therefore \|x_n - y_n\| \rightarrow \|x_0 - y_0\|$$

Example Let  $\mathbb{R}^3$  be a normed space over  $\mathbb{R}$

$$\text{Let } x \in \mathbb{R}^3, x = (x_1, x_2, x_3)$$

$$\|x\| = |x_1| + |x_2| + |x_3|$$

$$\text{Let } x_n = (0, 1 + \frac{1}{n}, \frac{1}{n})$$

$$y_n = (1, -\frac{1}{n}, 2)$$

Find if ①  $(x_n)_{n=1}^{\infty}$ , ②  $(y_n)_{n=1}^{\infty}$ , ③  $(x_n + y_n)_{n=1}^{\infty}$

④  $(x_n - y_n)_{n=1}^{\infty}$ , ⑤  $(3x_n)_{n=1}^{\infty}$

⑥  $(\|x_n\|)_{n=1}^{\infty}$ , ⑦  $(\|x_n - y_n\|)_{n=1}^{\infty}$

convergent sequence.

$$\textcircled{1} \quad x_n \rightarrow x_0 = (0, 1, 0)$$

$$\begin{aligned} \|x_n - x_0\| &= \|(0, 1 + \frac{1}{n}, \frac{1}{n}) - (0, 1, 0)\| \\ &= \|(0, \frac{1}{n}, \frac{1}{n})\| \\ &= |0| + |\frac{1}{n}| + |\frac{1}{n}| \\ &= \frac{1}{n} + \frac{1}{n} \\ &= \frac{2}{n} \end{aligned}$$

بما أن  $\forall \epsilon > 0$  يوجد  $n \in \mathbb{N}$  بحيث

$$\frac{2}{n} < \epsilon$$

لنأخذ  $K = n$  حيث  $k \in \mathbb{N}$  so

$$\|x_n - x_0\| = \frac{2}{n} < \epsilon \quad \forall n > K$$

$$\textcircled{2} \quad y_n \rightarrow y_0 = (1, 0, 2)$$

$$\begin{aligned} \|y_n - y_0\| &= \|(1, -\frac{1}{n}, 2) - (1, 0, 2)\| \\ &= \|(0, -\frac{1}{n}, 0)\| \\ &= |0| + |-\frac{1}{n}| + |0| \\ &= \frac{1}{n} < \epsilon \end{aligned}$$

$\exists k \in \mathbb{N}$

$\forall n > k$

$$\textcircled{3} \quad x_n + y_n \rightarrow x_0 + y_0$$

$$\begin{aligned} x_n + y_n &= (0, 1 + \frac{1}{n}, \frac{1}{n}) + (1, -\frac{1}{n}, 2) \\ &= (1, 1, 2 + \frac{1}{n}) \end{aligned}$$

$$\begin{aligned} x_0 + y_0 &= (0, 1, 0) + (1, 0, 2) \\ &= (1, 1, 2) \end{aligned}$$

$$\begin{aligned}
 \|(x_n + y_n) - (x_0 + y_0)\| &= \|(1, 1, 2 + \frac{1}{n}) - (1, 1, 2)\| \\
 &= \|(0, 0, \frac{1}{n})\| \\
 &= |0| + |0| + |\frac{1}{n}| \\
 &= \frac{1}{n} < \epsilon \quad \forall n > K
 \end{aligned}$$

$$\begin{aligned}
 (4) \quad x_n - y_n &= (0, 1 + \frac{1}{n}, \frac{1}{n}) - (1, \frac{1}{n}, 2) \\
 &= (-1, 1 + \frac{2}{n}, \frac{1}{n} - 2)
 \end{aligned}$$

$$\begin{aligned}
 x_0 - y_0 &= (0, 1, 0) - (1, 0, 2) \\
 &= (-1, 1, -2)
 \end{aligned}$$

$$\begin{aligned}
 \|(x_n - y_n) - (x_0 - y_0)\| &= \|(-1, 1 + \frac{2}{n}, \frac{1}{n} - 2) - (-1, 1, -2)\| \\
 &= \|(0, \frac{2}{n}, \frac{1}{n})\| \\
 &= |0| + |\frac{2}{n}| + |\frac{1}{n}| \\
 &= \frac{3}{n} < \epsilon \quad \forall n > K
 \end{aligned}$$

$$\begin{aligned}
 (5) \quad 3x_n &= 3(0, 1 + \frac{1}{n}, \frac{1}{n}) \\
 &= (0, 3 + \frac{3}{n}, \frac{3}{n})
 \end{aligned}$$

$$3x_0 = 3(0, 1, 0) = (0, 3, 0)$$

$$\begin{aligned}
 \|3x_n - 3x_0\| &= \|(0, 3 + \frac{3}{n}, \frac{3}{n}) - (0, 3, 0)\| \\
 &= \|(0, \frac{3}{n}, \frac{3}{n})\| \\
 &= |0| + |\frac{3}{n}| + |\frac{3}{n}| \\
 &= \frac{6}{n} < \epsilon \quad \forall n > K
 \end{aligned}$$

$$\textcircled{6} \quad \|x_n\| \rightarrow \|x_0\|$$

$$\begin{aligned} \left| \|x_n\| - \|x_0\| \right| &= \left| \|(0, 1 + \frac{1}{n}, \frac{1}{n})\| - \|(0, 1, 0)\| \right| \\ &= \left| |0| + |1 + \frac{1}{n}| + |\frac{1}{n}| - \{|0| + |1| + |0|\} \right| \\ &= \left| 1 + \frac{1}{n} + \frac{1}{n} - 1 \right| \\ &= \frac{2}{n} < \epsilon \quad \forall n > K \end{aligned}$$

$$\begin{aligned} \textcircled{7} \quad x_n - y_n &= (-1, 1 + \frac{2}{n}, \frac{1}{n} - 2) \\ x_0 - y_0 &= (-1, 1, -2) \end{aligned}$$

~~Let  $\epsilon = 1$ , then  $\|x_n - y_n\| = \sqrt{(-1)^2 + (1 + \frac{2}{n})^2 + (\frac{1}{n} - 2)^2} > 1$  for all  $n$ .~~  
~~H.W.~~

# Cauchy Sequence

A sequence  $(x_n)_{n=1}^{\infty}$  in a normed space  $\bar{X}$  is called Cauchy, if for every  $\epsilon > 0$  there is  $K$  such that

$$\|x_n - x_m\| < \epsilon \quad \forall m, n > K.$$

Example The sequence  $(\frac{1}{n})_{n=1}^{\infty}$  in  $\mathbb{R}$  is a Cauchy sequence.

$$|\frac{1}{n} - \frac{1}{m}| = |\frac{n-m}{nm}| = \frac{|n-m|}{nm}$$

by Archandis properties

$\epsilon > 0$   $b = |n-m|$ , then exist  $K \in \mathbb{N}$   
such that  $\frac{b}{K} < \epsilon$  ~~that is~~

$$\therefore |\frac{1}{n} - \frac{1}{m}| = \frac{|n-m|}{nm} < \epsilon \quad \forall n, m > K$$

$\therefore (\frac{1}{n})_{n=1}^{\infty}$  is a Cauchy sequence.

Lemma every convergent sequence in a normed space  $(X, \|\cdot\|)$  is a Cauchy sequence.

proof: Let  $(x_n)_{n \in \mathbb{N}}$  be a convergent sequence in a normed space  $(X, \|\cdot\|)$  such that  $x_n \rightarrow x_0$  that is mean for  $\forall \epsilon > 0$  there exists  $k \in \mathbb{N}$  such that

$$\|x_n - x_0\| < \frac{\epsilon}{2} \quad \forall n > k.$$

now

$$\begin{aligned} \|x_n - x_m\| &= \|(x_n - x_0) + (x_0 - x_m)\| \\ &\leq \|x_n - x_0\| + \|x_0 - x_m\| \\ &= \|x_n - x_0\| + \|x_m - x_0\| \\ &< \frac{\epsilon}{2} + \frac{\epsilon}{2} = \epsilon \quad \forall m, n > k \end{aligned}$$

$\therefore (x_n)_{n \in \mathbb{N}}$  is a Cauchy sequence.

### bounded sequence

Let  $(x_n)_{n \in \mathbb{N}}$  be a sequence in a normed space  $(X, \|\cdot\|)$  we say that  $(x_n)_{n \in \mathbb{N}}$  is a bounded sequence if there exist a positive number  $C$  such that

$$\|x_n\| < C \quad \text{for } n \in \mathbb{N}$$

### Theorem

If  $(x_n)_{n=1}^{\infty}$  is a Cauchy sequence in a normed space  $X$ , then  $(x_n)_{n=1}^{\infty}$  is bounded.

proof:

Let  $(x_n)_{n=1}^{\infty}$  is a Cauchy sequence in a normed space  $(X, \|\cdot\|)$  for all  $\epsilon > 0$ ,  $\exists k \in \mathbb{N}$  such that

$$\|x_n - x_m\| < \epsilon \quad \forall m, n > k$$

take  $\epsilon = 1$

$$\|x_n - x_m\| < 1 \quad \forall m, n > k$$

Let  $m = k+1$

$$\|x_n - x_{k+1}\| < 1$$

$$|\|x_n\| - \|x_{k+1}\|| < \|x_n - x_{k+1}\| < 1$$

either  $\oplus$   $\|x_n\| > \|x_{k+1}\|$  or  $\ominus$   $\|x_n\| < \|x_{k+1}\|$

$$\|x_n\| - \|x_{k+1}\| < 1$$

$$\text{Then } \|x_n\| < 1 + \|x_{k+1}\|$$

$$\downarrow$$
$$\|x_n\| < \|x_{k+1}\|$$

we have

$$\|x_n\| < 1 + \|x_{k+1}\| \quad \forall n > k$$

$$\text{Let } c = 1 + \max \{ \|x_1\|, \|x_2\|, \dots, \|x_{k+1}\| \}$$

$$\text{so } \|x_n\| \leq c$$

$\forall n \in \mathbb{N}$

Example Let  $x \in \left\{ \begin{bmatrix} a & b \\ 0 & c \end{bmatrix} \right\}, a, b, c \in \mathbb{R}$

$$A = \begin{bmatrix} a & b \\ 0 & c \end{bmatrix}$$

$$\|A\| = \max \{ |a|, |b|, |c| \}$$

$$x_n = \begin{bmatrix} 2 & \frac{1}{n} + 1 \\ 0 & 1 - \frac{1}{n} \end{bmatrix}$$

is  $(x_n)_{n=1}^{\infty}$  is bounded

$$\|x_n\| = \max \left\{ |2|, \left| \frac{1}{n} + 1 \right|, \left| 1 - \frac{1}{n} \right| \right\}$$

$$\leq 2$$

$$\text{so } \|x_n\| \leq 2 \quad \forall n \in \mathbb{N}$$

$\therefore (x_n)_{n=1}^{\infty}$  is bounded

$$y_n = \begin{bmatrix} n+1 & \frac{1}{n} \\ 0 & 3 \end{bmatrix}$$

$$\|y_n\| = \max \{ |n+1|, \left| \frac{1}{n} \right|, |3| \}$$

not exist  $c \in \mathbb{R}^+$  such that

$$n+1 < c \quad \forall n \in \mathbb{N}$$

so  $(y_n)_{n=1}^{\infty}$  is not bounded.